11/20/2017 Staff Selection Commision
Click to Print  logout Challenges

Staff Selection Commission
(Government Of India)

REGISTRATION NUMBER : examstocks.com CANDIDATE NAME : examstocks.com

EXAM DATE : 13-October-2017 EXAM
EXAM NAME : SSC Examination TOTAL START TIME : 16:30:00
MARKS : 150 EXAM DURATION : 01:30 Hrs

TOTAL NO OF QUESTIONS : 100

QID: 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

ArafaieT vw & ffw o Reedt # @ uw RE
(?) & THT W HS Gl TEA H FET|

Options:
1) 27

2)28
3)26

4) 25
Correct Answer: 28
Candidate Answer: 28

QID: 202 -
How many triangles are there in the given figure?

£ o T 3 freet Fruger ¥

Options:
1)3

2)4
3)5

4)7
Correct Answer: 5
Candidate Answer: 5
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QID: 203 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from S to 9. A letter from these matrices can
be represented first by its row and next by ils column, for example, ‘J’ can
be represented by 42, 87, etc., and ‘N’ can be represented by 04, 89, etc.
Similarly, you have to identify the set for the word “REACT”.

U AEE Hidel Uh TEO-UE aRT geifdr o g, star 76 fahedt f @
Rl T 3t TG T §) fadedt & U T WEAT-wAE 30ERT G an
Ry g o &, Star 5 {u ww & anegg & 1 Inegpl & wawr 3R
Uit 1 FEAT 0 T 4 § AR INAFNF 5 F 9| 3T IR A Th I_R
P Ugel 38N UfF 3R g # TOEH dEm g7 qfEm o dan &
3GIEIOT @ folw 0 T 42, 87, 3NTG ERT ST ST APl & T N’ i 04,
89, I ERT GRIT o Fham &1 3 oo I I ud # BT =g
“REACT" & TOT Tg # Ugdiaar ol

Matrix-1 Matrix-ll

eyl eyl
0111234 5(6(7]8]9
O|A|E|T|S|N S5|1Z|GIW|I]Q
1L (M[IIT|C|I SIY[M[B|T|A
2({U[E[S|V]|X 7|L{aQlZ|Y|D
3|(D|GIW|L|R 8|F|E|J]|T|N
4|10 |K|J|C| Z glul|Y|V]|G

Options:
1) 34, 01, 00, 88, 02

2) 13,21, 31,02, 44
3) 34, 86, 69, 13, 68

4) 34, 23, 21, 43, 88
Correct Answer: 34, 86, 69, 13, 68
Candidate Answer: 34, 86, 69, 13, 68

QID: 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 TR i # W 3@ TR el @ gaw
5w & vy gl BT ¥

JO

———— —wre———
| Pt e =5 e n‘m‘umﬂmmv&;:.,tsnm‘;ﬂ_’."_v
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Options:

1)

2)
P

3)

@ll?

4)

Correct Answer:
P\

Candidate Answer:
Patmn

QID: 205 -

Which answer figure will complete the pattern in the
question figure?

HiaT T TA HHA T HFHIa & TawsT B QT

LI
(<] (-]
N/
A 5
o L ]
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Options:
1)

AV

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 206 -
If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ify TR EUUT P AB @ W T@ AT, AT & TS
IO APl # W Bl W AEa W G &
g ufafesa gefre

<>

A< B
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Options:
1)

N
-

&

sllel o] [¢

Correct Answer:

O

Candidate Answer:

O

QID : 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

der o ow Apfadl # e gER wee @
AEAT Tael AT Wiekd & e I A 3R HIHA
S feard 2me

| D

| S L ot oS s I e s S ,KTLET,.‘TTF.__;Jy
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Options:
1)

(e Y

O
[ Y

2)

N O

3)

[ Yan'

4)

D
p°q

Correct Answer:

D _d
D°q
Candidate Answer:
D _d
D°q

QID : 208 - By interchanging given two signs and two numbers which equation will be correct?
xand +, 2 and 6
fou T &) R auT &1 i1 BT ST H IRER Faa W P 1 GHIBR 9] 81 SIgr?

X AU+, 2dUT 6

Options:

1)2+3+6x4=13
2)2+6+3x4=10
3)4x3+2-6=11
4)3+4+6%x2=9

Correct Answer: 2 + 3 - 6x4 =13
Candidate Answer: 2 + 3 -+ 6x4 =13

QID:209-1f8 @4@2=1and27@9 @3 = 1, then
49@7@7=?
8 @4@2=1aqU27@9@3 =17 d

49@7@7="
Options:

1)2

2)-1

3)3

41

Correct Answer: 1
Candidate Answer: 1

| e aetn L i oS S I e ey ;7151'.1:1'7_.;V
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QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Monday
2. Murder

3. Muggot
4. Monkey
5. Monster

FafifEd U] Bl AEHI H ofF I HH F AR g

1. Monday
2. Murder
3. Muggot
4. Monkey
5. Monster
Options:
1) 15432
2) 14532
3) 15423
4) 14523

Correct Answer: 14532
Candidate Answer: 14532

QID : 211 - In the following question, select the missing number from the given series.
5, 8,14, 23,?,50

Frafatea wy § fou T fagedt O @ g i J1d Sifol|

5, 8,14, 23, 2,50

Options:

1)34

2)35

3)36

4) 37
Correct Answer: 35
Candidate Answer: 35

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
pam, qcn, reo, ?, tiq
TF 3w fean ma g, ol 9 Ue ug g 3| o T fawei # 9 a8 W6t fawed g, S ofghH &1 Oy

pam, qcn, reo, ?, tiq
Options:

1) sfq

2) sgp

3) shq

4) sfp

Correct Answer: sgp
Candidate Answer: sgp

QID : 213 - In the following question, select the odd word from the given alternatives.

FafiEa gy 3 U fdsedl ® 4 favd w1sg &7 9Tl
Options:

1) Shirt

E2ict

2) Sbcks
EIE]
3) Pant

A
4) Sweater
WR

Correct Answer: Pant

EESS)

Candidate Answer: Socks

QID : 214 - In the following question, select the odd number from the given alternatives.

Fafied Uy A 3 e fdsedl § 4 faww @1 1 g
Options:

1)83

2)93

3) 65 - - - -
A\ oc e T e ey T e et T ——— 1
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Correct Answer: 83
Candidate Answer: 93

QID : 215 - In the following question, select the odd letters from the given alternatives.
Fraferfad gy § 3 e fdeed & 4 fawd sierl &1 giu)

Options:

1) mark

2) shell

3) mall

4) bark
Correct Answer: shell
Candidate Answer: mall

QID : 216 - Identify the diagram that best represents the relationship among the given classes.

Guava, Apple, Banana
98 3RG AT & - o TC anif & g & dey &1 Tet e g g

TS, 9, Har
Options:

00

N

W

© @Y o

£

Correct Answer:

O
O

Candidate Answer:

O

@

QID : 217 - In the following question, select the related word pair from the given alternatives.
Time :Seconds::?:?

Froferiaa uy & fou e fawed § ¥ Geifia wee g & gl

s s A i e T F g A be st Ve it A rn.';ﬁ_"_y
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Options:
1) Distance : Kilometre

2) Speed : Time
d g

3) Pressure : Seconds

aMd : YBUS

4) Temperature : Metre

A : Hiex

Correct Answer: Distance : Kilometre

Candidate Answer: Speed : Time

RS E

QID : 218 - In the following question, select the related number from the given alternatives.
288:72::576:7?

P e & R e e ¥ wafva wen 3t 9h)

288:72::576:7?

Options:
1) 500

2) 144
3) 140

4) 134
Correct Answer: 144
Candidate Answer: 144

QID : 219 - In the following question, select the related letters from the given alternatives.
mate : ncug: : goat: ?

FrafaRed vy & fou U fgwedl & 9 aia ofert &1 9w

mate : ncug : : goat : ?

Options:

1) igbv

2) hpbu

3) ipcv

4) hgbv
Correct Answer: hgbv
Candidate Answer: hgbv

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
IMPATIENCE
frafoRad foswedl & § 98 sg 9T S U T8 Xeg F 9feRt &1 RN G- 8! ST o el

IMPATIENCE

Options:
1) TIME

2) CRATE
3) TAPE

4) MATE
Correct Answer: CRATE
Candidate Answer: CRATE

QID : 221 - In a row of 67 students, B is 24t from left end. What is his place from the right end?

67 BHEI 31 TP Ufaa &, B I 3R I 24-a1 ¥1 <l 3R § ITHT WIH T 7?
Options:

1) 43

2) 44

3)42

4) 45

Correct Answer: 44

Candidate Answer: 44

e —————— - mer————
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QID : 222 - P is brother of Q. Q is sister of R. R is son of S. T is sister of S. How is T related to Q?

PQBTUERIQ RIATEITIR SHYIRIT, SHI 75181 T, Q ¥ iy UoR Taifdra 2
Options:

1) Aunty

g3

2) Mother

T

3) Sister

CREl

4) Grandmother

Correct Answer: Aunty
g3

Candidate Answer: Aunty
31

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some W are V.
IL AV areT.

Conclusions:
I. Some T are W.
II. Some V are not W.

i fow 7T uy B 5 HU SR 3% 918 39 HUH R RD 8 ey T 7u B, greifes S8 w9 audi @ e ) wodt 81w e 0f ok fir feifa
R % U T BF 3 frsed, 3w U st & SneR W iR g

DY
LPSW, VTl
IL @iy, TR

T
LP3T, WEI
L3SV, W gl
Options:
1) Only conclusion (I) follows.
Paq F=p (1) TS 8
2) Only conclusion (II) follows.
Fad ey (11) TE B
3) Both conclusion follow.
g & Frend ud 81
4) Neither conclusion (I) nor conclusion (II) follows.
T a1 sy (1) 7 8 ey (1) Tet B
Correct Answer: Only conclusion (I) follows.
Faa sy (1) TE B
Candidate Answer: Only conclusion (I) follows.

Faa ey (1) T8l 81

QID : 224 - In a certain code language, "ACID" is written as "BELH". How is "LETS" written in that code language?

e IR H1s Wi &, "ACID” @ "BELH" foral Sl 81 39 $ls U9 § "LETS" & {9 UoR forar wimaem?
Options:
1) MGWW

2) MFWW
3) MGWV

4) NGYW
Correct Answer: MGWW
Candidate Answer: MGWW

QID : 225 - In a certain code language, "CUP" is written as "45" and "CUM" is written as "42". How is "ICE" written in that code language?

e IR His T F, "CUP" BT "45" TUT "CUM" T "42" iRl STl €1 39 IS HIW & "ICE" $1 {5y UsR firar Swm?

Options:
1)22

2) 23
3)20

4)17
Correct Answer: 22
Candidate Answer: 22

I o A e T & f’:&;a;n&!:’.‘l\h‘wﬁi;-_fn!fnmv ]
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QID : 226 - Irfan bought a chair for Rs 517 with a discount of 6% on the marked price. Find the marked price of the chair.

TEH I & il 3ifdhrd YT W 6% @ e & 1 517 T | WA Hf 37 siferd I gary|
Options:

1) Rs 580

580 %

2) Rs 520

520%

3) Rs 550

550 %

4) Rs 540

540 %

Correct Answer: Rs 550
550 %

Candidate Answer: Rs 550
550 %

QID : 227 - The sum of all odd whole numbers between 8 and 32 is .

8 3R 32 & & & gt of Ryw Jemeii wram 31
Options:

1) 240

2) 320

3) 360

4) 260

Correct Answer: 240
Candidate Answer: 240

QID : 228 - How many whole numbers are there between 52 and 356 which are exactly divisible by 6?

52 3R 356 & &9 6 ¥ Yuia: fawiiera g arctt fraet gof Temy g2
Options:
1) 49

2)51
3)53

4) 55
Correct Answer: 51
Candidate Answer: [ NOT ANSWERED ]

QID : 229 - What is the sum of all 3-digit natural numbers divisible by 17?

17 ¥ Qg @ aweft 3 sfet &t Wl v Semalt &1 A9 T 82
Options:

1) 28736

2) 28632

3) 28832

4) 28732

Correct Answer: 28832

Candidate Answer: [ NOT ANSWERED ]

QID : 230 - When a manufacturer allows 10% commission on the wholesale price of Rs 5000 for a particular item, he earns a profit of 25 %. How much profit does
the manufacturer earn on that item?

ST9 U fHEid 5000 T & fhel W a¥g & A Hed TR 10% HHIRA ST 8, A I 25% arH gl 3| Fafdr 39 avg W fbamT ey Famr g2
Options:

1) Rs 1000

1000 ¥

2) Rs 800

800 %

3) Rs 500

500 %

4) Rs 900

900 %

Correct Answer: Rs 900
900 %

Candidate Answer: Rs 900
900 %

QID : 231 - A bus runs at an average speed of 32 kms/hr. If it completes 304 km long-journey with a break of 30 minutes, what is the total time taken during the
jounrey?

TH T 32 fofiyder ot aiwa Tifa 3 e 31 afe g8 304 ol &t aen 30 e & fvm & a1y gur o=l 3, o aen 1 9 | v s @i

I o A e T & f’:&;a;n&!:’.‘l\h‘wﬁi;-_fn!fnmv ]
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Options:

1) 12 hrs

12°€¢

2) 11 hrs

116¢

3) 10 hrs

10 6¢

4) 9 hrs

94c

Correct Answer: 10 hrs
10€e

Candidate Answer: 9 hrs
9He

QID : 232 - Find value of (62% of 650) + (45% of 340).

(650 BT 62%) + (340 BT 45%) HT AM Fd B
Options:
1) 556

2) 506
3) 553

4) 453
Correct Answer: 556
Candidate Answer: 556

QID : 233 - A can do a piece of work in 4 days. B and C together can do it in 3 days, while A and C together can do it in 2 days. How many days will B take to do
the work alone?

A forit 107 &1 4 1 F &% wavar 81 B SIR C A1y e St &1 &1 3 foe i H o= ahdl §, e A SiR C O fireas) St 1 ol 2 ot & o) wapdl §1 B bl 39
S DI fvad &1 & pam?

Options:

1) 8 days

gfas

2) 12 days

123

3) 10 days

10 feq

4) 16 days

16 f&q

Correct Answer: 12 days
12

Candidate Answer: 12 days
12 feq

QID : 234 - The average of 5, 7, 12, 15 and X is 10. What will be the value of Y if the avegare of 9, 12, 13, 17, X and Y is 14?

5,7, 12, 15 3iR X $1 3f¥d 10 31 A% 9, 12, 13, 17, X 3R Y H7 379 14 §, A Y &1 I 1 F1?
Options:

1) 12

2)13

3)20

4)22

Correct Answer: 22

Candidate Answer: 22

QID : 235 - A shopkeeper offers 23% discount on a bag with a marked price of Rs 4500. If he still earns a profit of Rs 600, what is the cost price of the bag?

Td GPHIMER 4500 T Sifdhd T 1 U o1 WR 23% Fe odl ¢ 1 3R R o} 98 600 T &1 A1 HHMT 8, O S Bl 6 Ged 1 62
Options:

1) Rs 3900

3900 %

2) Rs 2865

2865 %

3) Rs 2965

2965 %

4) Rs 3465

3465 %

Correct Answer: Rs 2865
2865 %

Candidate Answer: Rs 2865
2865 %

QID : 236 - The total surface area of a cube is 726 cm2, What is the volume of this cube?

% ¥ &1 9rgul UF &A%d 726 T2 §1 39 U 1 SHTa o1 87

I o A e T & f’:&;a;n&!:’.‘l\h‘wﬁi;-_fn!fnmv ]
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Options:
1) 1231 cm3
1231 93
2) 1331 cm3
1331 3
3) 1431 cm?
1431 I3
4) 1531 cm3
1531 93

Correct Answer: 1331 cm3

1331 941

Candidate Answer: 1531 cm3

1531 9913

QID : 237 - What least number must be added to 748 so that the sum is completely divisible by 59?

748 ¥ &1 A F1 fora=t T Sie-t e aifds o an 59 I gof favrsa g smee
Options:

1)21

2)13

3) 19

4)7

Correct Answer: 19

Candidate Answer: 19

QID : 238 - What will be the annual simple interest rate if a principal amount of Rs 88,000 becomes Rs 1,61,920 in 6 years?

3[R 88,000 ¥ HT T 6 TG H 1,61,920 F Bl ST B, &l TURYT 1S 1 aMfifes &R o1 gft?
Options:

1) 11%

2) 12%

3) 13%

4) 14%

Correct Answer: 14%

Candidate Answer: 14%

QID : 239 - The monthly salaries of A and B are in the ratio 5:6. If both of them get a salary increment of Rs 2000 per month, the new ratio becomes 11:13. What
is the new monthly salary of A?

AT B % HIRI A1 T 3JUTd 5:6 &1 3FR I Bl 2000 T Bl ATRIE da gig fred 8, o 7ar ergurd 11:13 8 Wil &1 A &1 =101 Al Ia o 82
Options:

1) Rs 20000

20000 ¥

2) Rs 24000

24000 3

3) Rs 26000

26000 3

4) Rs 22000

22000 %

Correct Answer: Rs 22000
22000 %

Candidate Answer: Rs 24000
24000 ¥

QID : 240 - A bullock cart covers a distance of 10 kms in 4 hours. What is the average speed of the bullock cart?

TS Samel 10 ol &1 gt 4 98 & 79 Fxdl §1 SUD! 37d T 1 82
Options:

1) 8 km

8 o,

2) 2.5 km/hr

2.5 fotht e

3) 2 km/hr

2 Tt fden

4) 10 km/hr

10 foft, efer

Correct Answer: 2.5 km/hr
2.5 fouft, e

Candidate Answer: 2.5 km/hr
2.5 ot /e

QID : 241 - How many of the following numbers are divisible by 32?
192, 1008, 832, 656, 1264, 1822

i 7 A oot Tkemd 32 @ Rusa 82

192, 1008, 832, 656, 1264, 182 Iy ]
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Options:

1)2

2)3

3)4

4)5

Correct Answer: 2
Candidate Answer: 2

QID : 242 - Price of a house came down by 10% during recession. After one year, the price increased by 15%. What was the effective percentage change over the
original price?

TEl % SR TP W B BT 10% FH 81 15| T I 916 HIFd H 15% B 3f g3 R F gd HiAd | e vl &1 9gara gaim?
Options:

1) 5%

2) 8%

3) 3.5%

4) 4.5%

Correct Answer: 3.5%

Candidate Answer: 3.5%

QID : 243 - A shopkeeper buys a dozen umbrella for Rs 1200. Two of the umbrellas were damaged during transportation. Find his profit percentage, if he sells rest
of the umbrellas at Rs 150 each?

TH GHMGER Th ol B 1200 ¥ & TGl 31 &1 B1d gals & QR ¢¢ Y| 3(F 3R GHIMER Tfd Bl 150 T F STl 7, df ITHT a1 Ufa=id 1 e
Options:

1) 20%

2) 15%

3) 25%

4) 10%

Correct Answer: 25%

Candidate Answer: 25%

QID : 244 - Rahul does complete a work in 25 hours. If Rajesh is 25% more efficient than Rahul then how much hours will Rajesh take to complete the same work?

G TH PTH B 25 T T [T BT 31 Af IO, TG b 25% Sl Hrf $U 3§l A0 S B B T P F A€ e 6 ar 82
Options:

1) 20 hrs

20 €<

2) 30 hrs

30 9¢

3)21hrs

214¢

4) 22 hrs

29

Correct Answer: 20 hrs

20 §¢

Candidate Answer: 20 hrs

20 €¢

QID : 245 - If Rs 1638 is divided in the ratio of 8:7:11 among A, B and C respectively, what will be the share of C?

3[R 1638 ¥ %I A, B AT C & &9 8:7:11 & 3ura & fyuiir fovar s 8, < ¢ o1 fowan ar geme
Options:

1) Rs 693

693 %

2) Rs 504

504 %

3) Rs 593

593 %

4) Rs 441

4412

Correct Answer: Rs 693
693 %

Candidate Answer: Rs 693
693 %

QID : 246 - The largest 5-digit number divisible by 21 is .

21 ¥ faurg 9 arell 5 3ie! 3 Tl It S !
Options:

1) 99981

2) 9988

3) 9991

4) 9993

Correct Answer: 99981

Candidate Answer: 99981

I o A e T & f’:&;a;n&!:’.‘l\h‘wﬁi;-_fn!fnmv ]
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QID : 247 -
A household spend 20 per cent of their monthly food expenses on
fruits. If the monthly food expense of the family is Rs 7500, answer
the following questions on the basis of pie chart showing the share
of expenses on different fruits in a particular month.

T W ST WL ARG @ &7 20% Well W T BT ¢l
R W & Ao ] Af8s @ 7500 ¥ §, af eafofaa
e & FW 915 A@IC A Riiv v FiFer well W =79 & Fear
d gafdid 3ehsT & MUR W 3

= \

~b
26% \\ O ganana/ael

D pomegranate /31T
itk : - Apple/fTd

""-\' / O Orange /AT

\ / = Grapes/319X
23% b

What is the amount spent on apple in the particular month?

it org fadiw & Q9 W forar @ gom
Options:

1) Rs 345

345%

2) Rs 360

360 %

3) Rs 375

375%

4) Rs 355

355%

Correct Answer: Rs 345
345%

Candidate Answer: Rs 345
345%
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QID : 248 -
A household spend 20 per cent of their monthly food expenses on
fruits. If the monthly food expense of the family is Rs 7500, answer
the following questions on the basis of pie chart showing the share
of expenses on different fruits in a particular month.

T W ST WL ARG @ &7 20% Well W T BT ¢l
R W & Ao ] Af8s @ 7500 ¥ §, af eafofaa
e & FW 915 A@IC A Riiv v FiFer well W =79 & Fear
d gafdid 3ehsT & MUR W 3

= \

~b
26% \\ O ganana/ael

D pomegranate /31T
itk : - Apple/fTd

""-\' / O Orange /AT

\ / = Grapes/319X
23% b

How much more amount is spent on Banana than Orange?

AR B SHUET F IR [BaT i 94 geim?
Options:

1) Rs 120

120%

2)Rs 90

03

3) Rs 300

300%

4) Rs 900

900 %

Correct Answer: Rs 90
0%

Candidate Answer: Rs 90
0%
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QID : 249 -
A household spend 20 per cent of their monthly food expenses on
fruits. If the monthly food expense of the family is Rs 7500, answer
the following questions on the basis of pie chart showing the share
of expenses on different fruits in a particular month.

T W ST WL ARG @ &7 20% Well W T BT ¢l
R W & Ao ] Af8s @ 7500 ¥ §, af eafofaa
e & FW 915 A@IC A Riiv v FiFer well W =79 & Fear
d gafdid 3ehsT & MUR W 3

= \

/ 7-5%\‘\ O ganana/ael
Op omegranate/3T=T
20% ‘ & :;\\ - ~ Apple/Sd
J \\"'-\ / Oorange fAGET

\ / = Grapes/319X
23% b

What is the ratio of amount spent on Orange and Grapes?

TR &R SR W @ Bl 7 A BT U T 82
Options:

1) 4/3

2)7/3

3) 15/4

4) 20/3

Correct Answer: 4/3

Candidate Answer: 4/3
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QID : 250 -
A household spend 20 per cent of their monthly food expenses on
fruits. If the monthly food expense of the family is Rs 7500, answer
the following questions on the basis of pie chart showing the share
of expenses on different fruits in a particular month.

TH W F HAAT R ATS @ & 20% el T T 6T gl
IR WX & AT I ATS @9 7500 ¥99 §, df Aefefad
T I IS A H cxiiT v JFffeT weil X =07 & f&eat
H Gafig 3Mahsl & LR K| I

" 15% \
/- 26% \\\ O ganana/ael
£ \
D pomegranate /31T
20% "‘ = Lprp[em
O Orange/-T{d

o 16%

\ / BGrape 5/3'1?1’{
23% ‘

The amount spent on Pomegranate is how much less than spent on Orange?

SR R G BT 72 AR ARM R G 31 7 IR F foba HH 82
Options:

1) Rs 80

80%

2)Rs 75

75%

3)Rs 20

20%

4) Rs 60

60 %

Correct Answer: Rs 60

60 %

Candidate Answer: Rs 60
60 %

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No error'.

A petty dispute between a police constable (1)/ and a motorcycle-borne couple late last night lead (2)/ to clashes between the locals and the police (3)/ No Error
(4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 1

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Residents from nearby areas came out to (1)/ protest against the police and a verbal spat turned into a (2)/ full-fledged clash amongst cops and the protesters (3)/
No Error (4)

Options:

11

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

I o A e T & f’:&;a;n&!:’.‘l\h‘wﬁi;-_fn!fnmv ]
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QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Rohan stood the crowd quite amazed.
Options:

1)in

2) from

3) for

4) into

Correct Answer: in
Candidate Answer: in

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

This is Ritika’s lunchbox, is the empty one.
Options:

1) yours

2) your

3) you

4) yourselves
Correct Answer: yours
Candidate Answer: your

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Allure

Options:
1) Attract

2) Prevent
3) Warn

4) Deter
Correct Answer: Attract
Candidate Answer: Attract

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Colloquial

Options:

1) Correct

2) Formal

3) Familiar

4) Standard
Correct Answer: Familiar
Candidate Answer: [ NOT ANSWERED ]

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Contemplate

Options:

1) Discard

2) Neglect

3) Design

4) Forget
Correct Answer: Design
Candidate Answer: [ NOT ANSWERED ]

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Judicious

Options:
1) Acute

2) Rash
3) Careful

4) Wise
Carrect Ancwaer: Rach | e aetn L i oS S I e ey ;?lgr.iﬂf_’-;uv ]
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Candidate Answer: Wise

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Cite

Options:

1) Present

2) Offer

3) Forget

4) Allege
Correct Answer: Forget
Candidate Answer: Forget

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Clash
Options:

1) Battle

2) Argument
3) Brush

4) Harmony
Correct Answer: Harmony
Candidate Answer: Harmony

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Kick the bucket
Options:

1) To abuse someone

2) To emphasise

3) To die

4) To turn pale

Correct Answer: To die

Candidate Answer: To abuse someone

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Bear the palm
Options:

1) To win
2) Emotionless

3) In disgrace

4) With a heavy heart
Correct Answer: To win
Candidate Answer: With a heavy heart

QID : 263 - Improve the bracketed part of the sentence.

As Ministers, their mandate (was be to) single-mindedly focus on results without having to worry about reporting to a career politician.
Options:

1) will be to

2) willing be to

3) must to

4) No improvement
Correct Answer: will be to
Candidate Answer: will be to

QID : 264 - Improve the bracketed part of the sentence.

But the choices (is also an) indication of the small talent pool before Mr. Modi.
Options:

1) might also an

2) are also an

3) can also an

4) No improvement - - -
R e e T e e L T Y ]
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Correct Answer: are also an
Candidate Answer: might also an

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Gold and silver before using for manufacturing ornaments
Options:
1) Stones

2) Bullion
3) Currency

4) Money
Correct Answer: Bullion
Candidate Answer: Stones

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Anything tending to move away from center
Options:

1) Centrifugal

2) Centripetal

3) Centripede

4) Circumcentre

Correct Answer: Centrifugal
Candidate Answer: Centripetal

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Accorate

2) Accuerate
3) Acurrate

4) Accurate
Correct Answer: Accurate
Candidate Answer: Accurate

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Adequate

2) Adecute
3) Adecuate

4) Edequate
Correct Answer: Adequate
Candidate Answer: Adequate

QID : 269 - Rearrange the parts of the sentence in correct order.

Activities in the

P: guided by the motive
Q: private sector are

R: to earn profits

Options:
1) QRP

2) RPQ
3) PQR

4) QPR
Correct Answer: QPR
Candidate Answer: QPR

QID : 270 - Rearrange the parts of the sentence in correct order.

Rohan and Ranjan

P: about the terms

Q: had finished reading
R: of credit in class

| e aetn L i oS S I e ey Elgl’,—.mv ]
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Options:
1) PQR

2) QPR
3) RPQ

4) PRQ
Correct Answer: QPR
Candidate Answer: QPR

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The history of the development of religion shows that as mankind moves from the isolated village towards large, complex, , industrialised society the
character of the influence of religion on a man and his life changes. In the earlier phases of religion the needs of mankind, those concerned with the
necessities of life, played a dominant part. As man'’s knowledge of natural forces , he learns to control them by natural methods, that is, by a detailed scrutiny
of their causes and

mankind moves from the isolated
Options:

1) small

2) large

3) immense

4) big

Correct Answer: small

Candidate Answer: small

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The history of the development of religion shows that as mankind moves from the isolated village towards large, complex, , industrialised society the
character of the influence of religion on a man and his life changes. In the earlier phases of religion the needs of mankind, those concerned with the
necessities of life, played a dominant part. As man'’s knowledge of natural forces , he learns to control them by natural methods, that is, by a detailed scrutiny
of their causes and

, complex, , industrialised
Options:

1) rural

2) urban

3) uncivilised

4) destitute

Correct Answer: urban

Candidate Answer: urban

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The history of the development of religion shows that as mankind moves from the isolated village towards large, complex, , industrialised society the
character of the influence of religion on a man and his life changes. In the earlier phases of religion the needs of mankind, those concerned with the
necessities of life, played a dominant part. As man’s knowledge of natural forces , he learns to control them by natural methods, that is, by a detailed scrutiny
of their causes and

religion the needs of mankind,
Options:

1) secondary

2) collateral

3) primary

4) higher

Correct Answer: primary

Candidate Answer: primary

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The history of the development of religion shows that as mankind moves from the isolated village towards large, complex, , industrialised society the
character of the influence of religion on a man and his life changes. In the earlier phases of religion the needs of mankind, those concerned with the
necessities of life, played a dominant part. As man'’s knowledge of natural forces , he learns to control them by natural methods, that is, by a detailed scrutiny
of their causes and .

natural forces .
Options:

1) shrinks

2) deterorates

3) drops

4) grows

Correct Answer: grows

Candidate Answer: deterorates

| e aetn L i oS S I e ey Elgl’,—.mv ]
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QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The history of the development of religion shows that as mankind moves from the isolated village towards large, complex, , industrialised society the
character of the influence of religion on a man and his life changes. In the earlier phases of religion the needs of mankind, those concerned with the
necessities of life, played a dominant part. As man'’s knowledge of natural forces , he learns to control them by natural methods, that is, by a detailed scrutiny
of their causes and

scrutiny of their causes and
Options:

1) symposiums

2) origins

3) summons

4) destructions

Correct Answer: origins
Candidate Answer: destructions

QID : 276 - To grow more than one crop on a piece of land during the year is known as

T8 & IR Y & T The W Uh A Afie BId ITH 3 ulhar o ¥ & § ST oI g
Options:

1) inter cropping

RN GRS

2) multiple cropping

THIF TEH

3) mixed cropping
[EECRGICET]

4) No option is correct
D15 1t fomed ot i 31

Correct Answer: multiple cropping

Candidate Answer: multiple cropping

QID : 277 - In India, what is the accepted average calories requirement per person per day in rural areas?

URA F AT 3@t & fore v fom e safda wlied siva B faa 82
Options:
1) 2100

2) 2200
3) 2300

4) 2400
Correct Answer: 2400
Candidate Answer: 2300

QID : 278 - Who one of the following appoints the Judges of the Supreme Court of India?

YR ¥ Wdie ey & i ol S e s 82
Options:

1) Prime Minister

e

2) Chief Justice of Supreme Court

JEAH AT & g8 A

3) Vice President

JU yufd

4) President

Correct Answer: President

=

Candidate Answer: President

QID : 279 - For whom are the Fundamental Duties mentioned in the Indian Constitution?

YR e 7 Ifcared At Hxior feae R d?
Options:
1) For Governmept employees

2) For all citizens
[t IATRT & ferg
3) For all the senior citizens
g4t iy TR & e
4) No option is correct
ff fadren wdt T B
Correct Answer: For all citizens

ot Arfvent & fore

Candidate Answer: For all citizen - - - -
RS WP ML N < N, i T Bt e P ™ e T Py A B ol U S s ;?;gl’.imv ]
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QID : 280 - Which one of the following places of Indus Valley Civilization was situated on the bank of Luni River?

iy a1t wgar & Fafifd wE ¥ § S W 16 ®E T A F R w® R e
Options:

1) Dholavira

UIGICING

2) Mohenjodaro
RIRENICS
3) Chanhudaro

4) Ha}'appa
Sl
Correct Answer: Dholavira

Candidate Answer: Chanhudaro

QID : 281 - Who among the following has written 'Satyarth Prakash'?

Frafafaa & 9 g venr fem R ar
Options:

1) Lala Lajpat Rai

GIEISISECRIEE

2) Dayanand Saraswati

SUFE Wl

3) Raja Ram Mohan Roy

REINEEI LRI

4) Lokmanya Tilak

GIELIRAGKED

Correct Answer: Dayanand Saraswati
S L

Candidate Answer: Dayanand Saraswati
e Il

QID : 282 - Which one of the following landscapes is NOT formed by the sea-water?

FrafaRea o ¥ $F-91 te Yga I 5 § T} a9a1 82
Options:

1) Lagoon

EGIK]|

2) Kayal
ERIK|

3) Cirque
e

4) Beach
Correct Answer: Cirque

Candidate Answer: Kayal
C2IN]

QID : 283 - To which of the following projects is the Narmada Bachao Andolan related?

efer s siicie MafiRad & feg uRadiem § w&id 32
Options:

1) Sardar Sarovar

TER W’

2) Bhakra Nangal

YREST AiTa

3) Rihand

Rga

4) Tehri

Correct Answer: Sardar Sarovar
TGR MR

Candidate Answer: Sardar Sarovar
TWER TSR

QID : 284 - What is fundamental function of Centriole in a cell?
ot PRt & Acteia o1 M S/t 1 32

———— —wre———
| Pt e =5 e n‘m‘umﬂmmv&;:.,tsnm‘;ﬂ_’."_v



11/20/2017 Staff Selection Commision

Options:
1) Protien synthesis

2) nucleolus formation
Eal

3) cell-wall formation

-y &1
4) cell division initiation
PIepT fauTeH # wgrar
Correct Answer: cell division initiation
PIRADT fqHTSH H Fgran
Candidate Answer: cell division initiation

PIRBT fFuH § Tgrar

QID : 285 - Bone in most of big animals is an example of which of the following tissues?

fYPTY TS TFaR! ST ARG H B 91 TP Iad Ul el 32
Options:

1) Muscular tissues

Wi Sas

2) Connective tissues

TSl s

3) Epithelial tissues

JUR Al Hdd

4) Nervous tissues

BT SHas

Correct Answer: Connective tissues
LISl S

Candidate Answer: Epithelial tissues
JUDAl Hdh

QID : 286 - Ascaris, a kind of worm, lives in which part of the human body?

TEHRY, T TR Bl P, A WR F a9 R § wd &2
Options:

1) Small intestine

B afid

2) Large intestine

3)' Kidneys
4) Liver

Corret;t Answer: Small intestine
Bt i
Candidate Answer: [ NOT ANSWERED ]

QID : 287 - What is the value of acceleration due to gravity of the surface of the Earth?

@S 5T & HRUT &R P Tag IR @0l AF T 32
Options:

1) 2 m/s?

2 Tiyarf Jvs

2) 4.9 m/s?

4,9 Hi/aif Jpus

3) 9.8 m/s?

9.8 Hi/att Yaopvs

4) 8 m/s?

8 I/t Jhug

Correct Answer: 9.8 m/s?

9.8 Wi/l Ghvs

Candidate Answer: 9.8 m/s?

9.8 Wi/l YHvs

QID : 288 - In which of the following mediums, speed of the sound will be maximum?

Fafafed o @ foa mea @t o 7fd ged siite grfte
Options:
1) Air

ag

2) Water
SIel

3) Steel
I

4) Kerosene

Correct Answer: Steel

T

———— —wre———
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Candidate Answer: Steel

B

QID : 289 - One TB approximately comprises or occupies which of the following data or space size?

o Aait gy FfeRad & | fea ster o M uiid @R 7.
Options:

1) 1000 KB

1000 Pt

2) 1024 MB

1024 THET

3) 1024 GB

1024 St

4) 1000 GB

1000 St

Correct Answer: 1000 GB
1000 et

Candidate Answer: 1024 GB
1024 Sist

QID : 290 - Which of the following is a heterogeneous mixture?

frafifed # ¥ o ot fawwidh fsor g2
Options:
1) Air

arq
2) Brass

3) Vinegar
Rt

4) Lime water

AT o

Correct Answer: Lime water
A g

Candidate Answer: Lime water

-0 art
QID : 291 - Which one of the following metals is found in liquid state at room temperature?

2 feu U engai # ¥ B A U o1 FER S YEY 9 TR 59 e & uRit w82
Options:
1) Potassium

2) Sodium
RliEpE

3) Mercury
URT
4) Aluminium

Correct Answer: Mercury
URT

Candidate Answer: Mercury
URT

QID : 292 - Where are the mangrove forests mainly found in India?

HRd & ANd & Grord: el UIg oid 87
Options:
1) Kaziranga National Park
IR CARGIE]
2) Western Ghats
gyt gre
3) Sunderban Delta

4) Bhakhra Ngngal Dam

HIEST 7T dIY

Correct Answer: Sunderban Delta
FereH S

Candidate Answer: Sunderban Delta

QID : 293 - In which of the following years "Vande Mataram Scheme" was launched?

e AR oA 3 Yeeia Fafifed § 9 feg 9 gs o
Options:
1) 2002
2) 2004
3) 2006
4) 2008

—r———— —wre———
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Candidate Answer: [ NOT ANSWERED ]

QID : 294 - Who among the following scientist invented the Stainless Steel?

R €I T MR Py # 3 fow e 3 fFan
Options:

1) Alexander Graham Bell

SAdoie] A §a

2) Mendeleev

3) Max Plank

EGRAE

4) Harry Brearley

RIESH

Correct Answer: Harry Brearley

Candi«_iate Answer: Max Plank

AR WP

QID : 295 - Which sport is Tour de France associated with?
B 1 I X I 6 A ST 32

Options:
1) Football

2) Golf

T

3) Tennis

EER]

4) Bicycle Race

Correct Answer: Bicycle Race

Candidate Answer: [ NOT ANSWERED ]

QID : 296 - Which of the following classical dance form relates to Tamil Nadu?

Foffea & @ $ O IR T afterrg 3 Tafe 82
Options:

1) Kathakali

HYDH!

2) Bharatanatyam

HRATTRHA

3) Kuchipudi

4) No 'option is correct.

g ot e Tt T )

Correct Answer: Bharatanatyam
HdATAH

Candidate Answer: Bharatanatyam
WRAITEH

QID : 297 - Which of the following state confers "Mewar Award"?

"R T FafaRed & & f5a 9 gr1 ver 3 s 82
Options:
1) Haryana

2) Punjab
EEIE]

3) Rajasthan
REEIE]

4) Delhi
El

Correct Answer: Rajasthan

RERIE]
Candidate Answer: Haryana

QID : 298 - Who wrote the famous book - "We the people"?

———— —wre———
| Pt e =5 e n‘m‘umﬂmmv&;:.,tsnm‘;ﬂ_’."_v



11/20/2017

Options:
1) Khushwant Singh

gRrdad

2) Nani A. Palkhivala
T €. uraetarer

3) T.N.Kaul
ERCREI

4) J.R.D. Tata
3RS, el

Staff Selection Commision

Correct Answer: Nani A. Palkhivala

= T, graeiaren
Candidate Answer: T.N.Kaul
A DA

QID : 299 - Which of one the following country is a permanent member of UN Security Council?

frofafed & 4 FF o1 32 9y P GRe IRy &1 Rk 5w 32

Options:
1) Brazil

2) China
ikl

3) Japan

S

4) India

HRd

Correct Answer: China

Candidate Answer: China

QID : 300 - What is the official language of Bhutan?

e B BTN HToT 7 82
Options:

1) Dzongkha

G ]- E

2) Gorkha

TR

3) Bhutanese

4) Assamese

Correct Answer: Dzongkha

Ca}ndidate Answer: Dzongkha



